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| SiEER |MRE| F5 | ARE | @EAH) k= migg  |MAE| £S5 | BE | @HAH) &5
4 i3 3 730| 331,100 it i3 2 612| 539,000
B k3 4 711 265,100 Rt i3 2 733| 658,900
Es k3 4 841| 341,000 s i3 2 778| 682,000
4 i3 4 868| 363,000 it i3 2 796| 697,400
B k3 6 790( 313,500 Rt i3 2 813[ 716,100
EES It 8 604 114,400 s i3 2 837 715,000

it i3 2 838| 715,000
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| mig% |MAE| &5 | BKE | BAH) &=
4 i3 3 616) 375,100
ik v 3| 660] 410,300 X BELTWIEBIIFTERISFTY.
ik v 6|  561| 422400 X EREEERERTLTVET,
4 i3 7 674| 452,100 |WFiR4E
4 k3 8 510 273,900
S it 11 478| 224,400
4 i3 13 498| 138,600
4 k3 13 370| 41,800
4 It 16 488| 168,300




